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MAP 2302 Test 2 Tuesday October 22nd
Total possible score: 18 points

Question 1. Find the general solution of the differential equation.
y" + 6y + 10y =0
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Question 2. Find a particular solution of the differential equation.

y" —y' + 25y = 5sin 5t
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Question 3. Solve the initial value problem.

W -2 45y =0, y0)=1, ¢(0)=17
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Question ¥. Find the general solution of the differential equation.
y" — Ty + 12y = 10>
(i) Associated hm03eneous equotion is 5”—75’+ 123 =0
Aux-‘lu‘arb equa'hm s ro="Tr+12 0 = (r-—S)(f—-Lf) =0
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Question 5. Solve the initial value problem.
y —5y=-25t, y(0)=
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Question 6. Find the general solution of the differential equation.
y" -+ 4y = Bsint + 6cost
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Question 7. Solve the initial value problem.
y—y=6 y0)=1
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Question 8. Find a particular solution of the differential equation.

y" +y =sect
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Question g Find a particular solution of the differential equation using
any correct method. _

yh’ _ er + y = t—Set
(Hint: Try a solution of the form y = At~let)
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Question 2. Find a particular solution of the differential equation using
any correct method.
y.'.r _ zyr +y= tu3et
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